W
BT

EADW

EASW

EAGW

1@ & ©

@l

oL e 15
M ¢ M AL M e
L\ wEn U N BN L\ REN

=\

Ig‘

MFLE EE=L—(bX2)

oo [ #w&E |

LR E

EADW EASW EAGW |

$45C

[ 60on/mmzL E

[00@0o-@B)|—[ ©L |—-[ @mPC |

BiERSR0~ OkF BSMNSHEHITITE.

EADWS8 = &3
EADM5 — 30 — MPC8
oo eL M
0 oo @Bno 0ooo5mm HAZ d | di | h | b e c L NE
8 0 35~ 80 7 34 6 [35] 8 M3 | 0.25~0.40
10 | —0.036| 45~ 80 45 | 75|45 10 | M4 ~50 | _
EADW 3 so~8 |°| o 12 e
FASWE L e 000 | 551 95 | 55 M5 | 040~0560 s1~80 [0,
EAGW |12 —0.043 10
16 60~100 16 81~110 0
18 60~110 11| 8410|6611 [65] 18 | M6 —0.87
]
LR EIR EADM EASM EAGM
F W/ M W/ M gp i/ Mo gy ,/C
ol A ol £ —&- o] —éﬁgo
(<] ® ‘ ®
16 L s ﬁ L A &y OL
63, 63, 63,
L2 53 L2 (] L2 (K
oo R ARRE
EADM EASM EAGM S45C 600N/mm2)}
od oL PAS M /\
[ Yals| @Bho Ooon5mm H2E (L) © L nE
5 0 10~ 50 5 0 ~ 18 _8 "
6 | —0.030| 10~ 60 6 —2.030 . P >
7 15~ 60 —0.036 19~ 30 —
Fo1 0 7 0.52
EADM 8 | _g03gl_15~ 80 a
A 10 ’ 15~ 80 : M4 31~ 50 [_pgg2
12 20~ 80 0 51~ 80 0
EAGM 14 30~ 90 9 —0.090 —0.74
=1 0 M5 0.40~0.60 0
| 15 | _gg43 | 30~ 90 10 81~110 |- -
16 : 40~100 -
18 40~110 11 —3410 M6
oooo (4 Julm| oooo
BEBYFNE BERGFME.
MPC=14&7E S I 1Tmm
= MPC B
L/2 @MPC M<MPC<L—M

1600



	页 1
	页 2
	页 3
	页 4

